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"Part - I11
GEOGRAPHY

Maximum : 60 Scores
(Map of India)

Time : 2 Hours
Cool off time : 15 Minutes

/General Instructions to Candidates : \
® There is a 'Cool off time' of 15 minutes in addition to the writing time of
2 hrs.

@ You are neither allowed to write your answers nor to-discuss anything
with others during the 'cool off time'.

® Use the 'cool off time' to get familiar with /guestions and to plan your
answers. ' AN

Read the questions carefully before answering: , -
All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from
the same question itself.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the guestions is also provided.

® [Electronic devices except nénprogrammable calculators are not allowed
in the Examination Hail:
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Pick out the CORRECT
the

Northern, Southern, Western

combination showing

and Eastern most states

respectively in India. |

a) Jammuand Kashmir, Kerala,
Gujarat, Assam

b) Jammu ahd Kashmir, Tamil
Nadu, Gujarat, West Bengal

¢) Jammu and Kashmir, Tamil
Nadu, Gujarat, Arunachal
Pradesh

d) Tamil Nadu, Jammu and Kashmir,

Arunachal Pradesh, Gujarat

2. A phenomencn is studied world

over as a whole, and then the
identification of typologies or
spatial patterns is done. This

approach in Geography 1is

termed as

a) regional approach
“b) systematic approach
¢) possibilism

d) determinism

West coastal plain in India is
different from east coastal plain
in many of its features.
Substantiate the statement
three

through any

distinguishing features.
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Rearrange the columns B and C 4.  A-egorldl eemewomymoed B, C
against column A appropriately. (3) SR e oeég, . (3)
A B C

a) Indus . i) Gaumukh 1 Subansiri

cm"kﬁwg awmoae oeniadavlal

b) Ganga i1 Chemayungdung 2) Yamuna

AN o .
ow £.00-@)63-®6E @
| ZRS
) Brahmaputra 111) Bokhar Chu ¢ [ 3) Sutlej
T ——
 EleCma o 660106100 2} el
i
Identify the WRONG statement B éni0any  (a0@Bes  Toenimwlaf’
/

regarding the outer planets. HORPOW ([ INHOUNEDE?

a) Also known as dJovian a) sxkoaflwmd ([WanesB afiomio
planets. afigleegm;.

b) Earth is one among these b) moid piteg|gmosn gl
planets. y/ @020 QOB (H0OBBER.

c) Gas giant planets. d) apEeowie £6OELR®, adlefiwo,

. am) 56013 )

d) Have thick atmosphere QDI @SSR OO0
mostly of hydrogen and woamleito. (1)
helium. {1)

Explain the argument put ,5/ ([DanEBELNS sRaiamlow

forward by Chamberlain and osniiifla] ai0cmideeiein, saoRs®

Moulten on the formation of agiciees aan®l aleeossas.  (2)

planets. (2) '
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10.

Caldera

different from other volcanic

How 1is Volcano

forms?

Illustrate the propagation of
P-waves through the interior of
the earth with the help of a
diagram and label the shadow

zone of P-waves.

‘Spreading sites’ and
‘Subduction zones’ are terms
assoclated with plate
“boundaries.

a) Name the type of plate
boundary to which spreading

sites are confined to.

b) Name the type of plate
boundary to which the
pheomenon of subduction
takes place.

c¢) Differentiate these plate

boundaries.
Winter rainfall occurs in the
North western parts of India.
a) Explain the cause.

b) Mention the role of westerly

jet streams in it.

¢) How does this influence the

agricultural sector in India?
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11.

12.

13.

629
Identify the major soil type 11, ‘awseeod afloealwyes
confined to the North western AUSeSoISlenmod Gd(B)@@loay)
deccan plateau. Give an account ' @06mym 2epimeam? O oeplend
of its characteristics. (2) AERAHER (o idleiodo0i:. ()
The term, ‘storm surge’ refers to— \2\ ‘egpoo VA’ o) alBo ag)aTleMm
a) Severe drought due to dry oo flofloeomy?
winds. a) QIR  HORIG®B  @dBHIM
b) Abnormal rise in sea level BH00W OIOB2.
due to cyclones. ‘ \% 2[(EOIOBDBEMR. HO06Mo MVAYB-
¢) Flash floods due to heavy mlogfleeneddm @oavOWOEM
rain. emday
d) Flood due to landslides. (1) 0 HMED 0¥ DILI0IENSOHIM
EIPR0W HQIBEHQ [0H60.
d) 90y BOalogRGD @B M
amggégjomO. 1)
Complete the table regarding ],8/ WOmBOHROS BIBB: MANRUAUDE:TD
the physical propertigs of (roosniBulay alle aldelosns.  (2)
minerals. (2)
a) Colour of the powder of any mineral
Dewnnl...
&) womnliend ealoslwes mloo
b) 0/ o Appearance of a mineral without regard to colour
aloaslen slnuoomemiagoemgs WOmAlng ida By
¢) | Cleavage Tendency of a mineral to break in definite directions
oot womafiod flcdalie dlealeelas ©al0g0MmBs (alnlemm
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14. Biological activities support
weathering. Substantiate it with
examples.

15. Observe the given figure and
give answers to the following.

14, eomal 0denmeasdd @ooleuwemm

ORGOIES GG S

Gl

BRIaOEMEN
gleyes avad@dleis.

allimo ol et 06)). LpQIes
melellg8e 32106)amRes HEmoo
MEdridns.

5] ’/ 1
Stalugmite Laavearouth
Y N 3 1% + S qeale ! A
a) Name the Geomorphic agent [CO RN QUG U2 % @ &5 (B
.

responsible for making these

features.

b) Classify the labelled features
as srosional and
depozitional,
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18,

19.

- 26,

21.

When the sea level atmospheric
30°C, the

temperature at an altitude of

temperature 1s

2000 meters above the same
place will be about 17°C. Give a
reason for this difference in the

temperature.

Name the cell of air circulation
which sets the pattern of air

circulation in the mid latitudes.

Rain shadow regions are

associated with a particular type

of rain.

-a) Identifv the type and explain

it with illustration.

b) Name the other types of rain!

" ¢) Mention the other forms of

precipitation.

Ultra viclet radiations are

harmful for living world.

a) Identify the ato‘mospheric

 gas which protects us from
ultra violet radiations.

b) What mainly causes the
deplétion in concentration of

this gas?

K-839

8y

(6)

(2)

18.

mmye degfleer @ondies ®oaimlel
eplcianes,

2000

30%-em@dayyay’
@oE® el oo allgd
@@mm@ﬂr@ ®oaicfiel 17%-e0vabauymy
apwlzienie. ®oalmiaiwies 6

QUELOOVETT B006MODTOEN?

DWWy @EUSoWIw saaeiuiee (oW
2lo(EOEMOED  (TQIOTIHeHM QIOW)

2loldhem QOIMOERE Gald alOWds.

a9 YT 10IEREBM &D) (nIeDyds
@0 \@e@imoll enImhnIa®IEN.
< o A~
) ooy ®o ave@ @@l clems
2N@EDHE WadIWEENIES

alloldiaess.

QPWIeS aF mOEBH aROMEo?

&%

aideremamle og ©lalaBd

QROBRIOMIENT?

mo%(somm)e}g“ S ememd

HOBWOUBLIDDTBIT aOOWIGHODOET.

a) en@dsouwealg  @leamergldd

mlimio meon  GceHlEnHiam

@AY QUOBHHEDT?

b) @ UMD O
BURO Y EMAEBIMIBA oy

BOVENEIBUID ag)emgoe?

629

(2)

(1)

(6)

@)

Turn Over



22. Hightides occuring on full moon

23.

24.

and new moon days are stronger-

than usual high tides.
a) Explain the cause.

b) What is the speciality of
hightides cccuring on the
seventh day after a full moon

or new moon day?

One

organisms is a top carnivore.
Identify it.

among the following

a) Micro organisms
b) Deer
¢) Snake

d) Mongoose

Identify the Geo-informations
and mark them on the outline

map of India provided.

a) Biosphere reserve located

between India and Sri Lanka.

b) Lava plateau of India rich in
Black soil.

¢) State in which Sundarban

delta is located.

d) Mountain range parallel to

the west coast.

e) The lengest peninsular river.

4)

(1)

(5)
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